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ot el At A 20,595,119 18,456,915 2,138,204
= 1,499,000
& 1,498,000
Al 17,598,119
S Sl elD|E A5 (3 /AGleE - +=E) 17,385,519 15,693,325 1,692,194
= 1,499,000
& 1,498,000
Al 14,388,519
SIILLHA SOl AIESESIA) 457,468 227,426 230,042
37| 293l 104,752 %,340 8,412
101 1244| 51,152 42,740 8,412
M It 22 sE 51,152 42,740 8,412
20l & 51,152 42,740 8,412
OdteHel & SN 23 o1 51,152
o=0 86,0303 x248 21,336
oR=xRYsY 86,0303 x64 5,506
oxgYeIRSY 86,0303 *150%+ 116 14,970
oF=gasl 60,0002 x 123 720
o u&H| 30,0002 x12& 360
IS ESE=) 92,221,092 *302 *457 ! /365 3,464
0 HABHIRLZ 42,892,000 *3.495% 1,500
0 1EBYEREYZ 42,892,000&*1.75% 751
o=0IHZREZ 42,892,000 *4.5% 1,931
odAtEE = 42,892,000 *1% 429
oI RATEHIEES
1,500,000& *12.27% 185
201 LEt23H| 12,600 12,600
01 AtR22teltl 600 600
S0 &t 600 600
OHEJZZE L= 600
o &3t 100,000& 100
os= 200,000& 200
0EFSE 150,000 150
oot= 150,000& 150
02 2323l 12,000 12,000
S0 &t 12,000 12,000
O&Z2XE FXE==t| 3,000,000 *4CH 12,000
202 O4H| 1,000 1,000
01 =LHB] 1,000 1,000
S0 &t 1,000 1,000
O371g29 ¥ Xot=2& 22| =0l
1,000,000& 1,000
207 A0 30,000 30,000
01 22E&4H| 30,000 30,000
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S0 & 30,000 30,000
Odt=EJNREEZ JItE g4
15,000,000& 15,000
020235 I ZAEAIES
15,000,000 15,000
308 AHXIGHMSOIH 10,000 10,000
11 SISO HSHE AN AEAIZ B 10,000 10,000
=0 A 10,000 10,000
O371e olatslH T2 08 SXIE44]
10,000,000 10,000
Kotz 2tel 22,930 22,930 0
201 2Er23Y| 13,580 13,580 0
01 At=222teltl 1,780 1,780 0
=0 & 1,780 1,780 0
OXdt=22 XA HE
80,0002 * 10t A 800
OXot=2= NS0IXM X2 Bl =5
40,0002 x12& 480
O1l=H| 500
0 OtXM 5t 50,000& *23] 100
o &= 200,000& *23] 400
02 =323l 11,800 11,800
=0 A 11,800 11,800
osEdsz 350,000 128 4,200
OXlote a2l Z2 08 KA 2|
1,900,000& 43| 7,600
202 O4d| 350 350
01 =2LHNY] 350 350
=0 A 350 350
OEZXIAS SLHO LI 350,000& 350
401 AIEHIZL 20| 9,000 9,000
01 Al&HI 9,000 9,000
=0 A 9,000 9,000
OXIgt= EXE |&a=572H|
900,000& %103 9,000
EXHRXA (ol==) 27,840 27,840 0
04 XA 27,840 27,840 0
03 SELREH| 27,840 27,840 0
=0 & 27,840 27,840 0
Ooulst=H|(HHE 50,0002 x 12& 600
OSdgRegE| 27,240
03| BAISRA
80,0002 x24H x 12 23,040
0 Z2IIEEAHEIHE) 30,0002 x12& 360
oOllaE - A A SYBRA
80,000&x3H+12& 2,880
0RIUWE HHESREH 80,000& x12& %60
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101 Q12| 20,794 19,916 878
M JI2ZtHZ2E2sSEs 20,79 19,916 878
S0 A 20,794 19,916 878

Oster2lz sAFY| o2 20,794
oh=10;] 86,0302 x166 14,281
og3sULry 86,0002 x43! 3,700
=D 60,0008 +82 480
T 30,0008 +82 240
o=0IHZREZ 18,701,000& 4. 5% 842
o HABEHREEZ 18,701,000 *3.495% 654
&I QLUBSEHREZ 654,000 *12.27% 81
0 LNEEEREZ 18,701,000 *1.75% 328
o MMEE = 18,701,000 * 1% 188

201 LBt 101,700 60,400 41,300
01 AtR2teld| 11,700 10,400 1,300
=0 At 11,700 10,400 1,300

OAgAIE 222 89 4,000,000 4,000
OBt&H2IE gl As] 450,0002 63 2,700
Odt=xeld 8usE=S 1,000,000& 1,000
OBlaHelE SARH|(ASHL)
2,000,000& x23] 4,000
2 S3294| 90,000 50,000 40,000
=0 A 90,000 50,000 40,000
OHAF SXIE 24| 80,000, 0002 80,000
OMEsd ®AE2=4| 10,000,000 10,000
ollgIbl(ot=%) 179,452 0 179,452
801 oyl 179,452 0 179,452
1 etaibldl 179,452 0 179,452
=0 A 179,452 0 179,452
(@]:{1s11s]] 179,452 ,000& 179,452
St=xel JIs2sHotETAIEEE 3 H) 9,297,175 8,863,815 433,360
= 259,000
= 706,500
Al 8,331,675
X6t el & ol=MIHD| 2&SHAIS 546,000 2,380,000 1,834,000
= 100,000
o= 21,500
Al 424,500
401 AIEHIZL 20| 546,000 2,380,000 1,834,000
- 100,000
T 21,500
Al 424,500
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01 Al&H] 546,000 2,380,000 A 1,834,000
= 100,000
c 21,500
Al 424 500
=0 A 546,000 2,380,000 A 1,834,000
== 100,000
= 21,500
Al 424 500
Odt=MIND| 2&3HAIS 546,000,000 546,000
= 100,000
° 21,500
Al 424 500
L -FEITIHN 29 687,480 292,080 395,400
201 B2 AHY| 184,840 139,440 45,400
01 AFR2teld| 8,440 7,440 1,000
=0 A 8,440 7,440 1,000
OLsH =TT A MI|otM 22| e
>~z 120,000 = 12& 1,440
OXSS @ =TT 2T AIE2
7,000,000 7,000
2 2=2=244| 176,400 132,000 44 400
=20 A 176,400 132,000 44 400
O t4=ET A CCTV dME23|6 AlIZ2
100,000« 12& 1,200
OLsH =TT X AAAH S|
10,000,000 10,000
O 4HIX JIHEEEA
1,600,000« 12&! 19,200
O - =Wz AIZ&&H| SXd]
20,000,000 20,000
OR - T od JAAHAZLAIANAE SXE
Z=H]| 1,600,000« 12& 19,200
O HIXN MRS
6,000,000& ~12& 72,000
0% Q4BIN MIIFAR
1,600,000~ 12& 19,200
O xZol MEJH AMES
1,300,000~ 12& 15,600
206 MZH]| 2,640 2,640
01 =4 2,640 2,640
20| A 2,640 2,640
O - 4HIA J|H, N8|, HE ARS
220,000« 12& 2,640
401 AlEH|ZLE20HY] 500,000 150,000 350,000
01 Al&H] 500,000 150,000 350,000
=0 A 500,000 150,000 350,000
OLsH tHe=E T MY 350,000,000 350,000
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O =gud I8N
25,000,000 *6H A 150,000
SAHEZY 2Z 835,400 921,400 286,000
201 Let2d| 589,200 589,200 0
01 At22telH 25,400 25,400 0
=0l At 25,400 25,400 0
OReldH =2 100,000& #30H A+ 123 3,600
OHI|orM 2| ==
1,400,000+ 123 16,800
ONNEHEEZ MI|8H] FHIIZAL ==
= 1,500,000 1,500
OM3sHEEE =ML HE=
3,500,000 3,500
02 2324l 563,800 563,800
=0l &t 563,800 563,800
OSHELY I8 R+
15,000, 000 #47H 2 60,000
OSHELRY A= RAZ=4I
3,000,000 44 2 12,000
OsAHEZY dol+=ER=
150,000 » 128 1,800
OSAHBERY RXE=4I
10,000, 000 *47H 2 40,000
OSHERY &L=
50,000,000 » 122 %75% 450,000
206 M=H] 16,200 16,200
01 =4l 16,200 16,200
=0l & 16,200 16,200
OosABZHY JIAHl, &J1, H=E L25
1,350,000& 123 16,200
401 AlEHIZL S| 230,000 316,000 /86,000
01 AlZHI 230,000 316,000 286,000
=0l &t 230,000 316,000 /86,000
ON2EHBEEY 21gXct+=E E+SAl
20,000,000& 20,000
OHNSSHBEE FAAA WHSA
50,000,000& 50,000
OSHBELY JtgEZ JUISAH
30,000, 000& »2CH 60,000
OSHBLY AXI| WHSAH
15,000,000 *4J 2= 60,000
OSHEZY A= =4
200,000& »200& 40,000
SHELY ot-LE22 2HAY 329,000 1,834,000 1,505,000
= 159,000
= 85,000
Al 85,000
401 AIEHIZL S| 329,000 1,834,000 21,505,000
= 159,000




2A: St elArE A
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&2l Sl=Hel Js2sHol=TAIESE 3 H) (e
S - EHY - BR(31) - NSAY - BaS S SR b=
== 85,000
Al 85,000
01 Al&HI 329,000 1,834,000 1,505,000
= 159,000
& 85,000
Al 85,000
=0 A 329,000 1,834,000 21,505,000
= 159,000
& 85,000
Al 85,000
OSHEZE-dt=HelE 2t S-St
Z BLSA 329,000
= 159,000
& 85,000
Al 85,000
okXeld 29 5,699,295 3,436,335 2,262,960
101 @I24H| 20,297 27,538 AT ,241
M It 22 sE 20,297 27,538 AT,241
=0i & 20,297 27,538 AT ,241
OdteXel &, SHEZE SZEH &
otEEQ ol 20,297
(ox=10; 86,0303 x2H 83! 14,281
oRr=sYsY 86,030 x2H 21! 3,614
oF=gasl 60,0003 x4 240
o u&H| 30,000 x4 120
o=0IHAZRE S 18,254,240 x4 . 5% 822
o AUBEREZ 18,254, 2403 *3.495% 638
oI RATEHRYS 638,000&*12.27% 79
0 NEBEHREZ 18,254,240 *1.75% 320
odAtEE = 18,254, 2402 1% 183
201 LEt23d| 2,560,808 2,436,628 124,180
01 AtR22teld| 1,468,868 1,464,088 4,780
S0 &t 1,468,868 1,464,088 4,780
OS2 ZAHADID] A2
200,000 *2CH 400
Okl 428 =25 1,000,000& 1,000
O &L J[H M2 Xt |IE WS
95,0002 x2H *43] 760
OHY Mels==2 1,100& 2,000 £ 2,200
onl=dl 1,500
0 2tXM 3t 50,0003 *3H *23] 300
o &= 200,000& *3H *23] 1,200
Ottt Al | Helx=+2
132,000 »29E 365 1,397,220
OdteXelE AIdEEI2 Xz
500,000& *83] 4,000
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OodtE=Hdeld &I|&H] HIIZAI ==&
1,500,000 1,500
Odt4RelR BIlempel (s+a
874,000 x12& 10,488
OBI+X2IE BAN BEE Heldaa
117,000& *150& 17,550
OBt+X2IE BNS E8 Heldaa
117,000 x250& 29,250
Obdle=Hela Ef2Aay] MDA 22|
a2 250,000« 12& 3,000
2 222494 1,091,940 972,540 119,400
S0 A 1,091,940 972,540 119,400
OB |A24H| 15,000,000 «2CH 30,000
O] CIATEEH IS SXIE4=H|
12,000,000 «43| 48,000
OJ]aE)| & s=)| FAESH|
22,000,000& +3CH 66,000
OdED |0l 3l 100,000& 100
OTHEZA & SteXeld SEFH Wl
1,300,000 *7 ) *23| 18,200
OE=J| Eeldolsti2t & sdX3=2
B2 NS 24 1,850,000 =128 22,200
Oonlle £2)| glessd
750,000 x12& 9,000
Obt=HelAlE JAAZAIANAE SN2
= 29 1,800,000& = 12& 21,600
Osdt2=H|Z HIOIIIAAE KX E2=H]|
90,000,000 90,000
Osi4H2IE Zeosss =8 (g
2,000,000 %43| 8,000
OodtE=Held =XHelAlE |24
60,000,000 60,000
OodtE=Held SHAIAE |24
100,000,000 100,000
Odt=Held JINsHED| 8] RAIELH]
1,000,000« 12& 12,000
Odtx=Held HI|Ie=2
50,000,000« 12& 600,000
OCCTV, &AH, 23N AIES
114,000 +5IH A% 122 6,840
202 04| 7,550 7,550
01 2yl 7,550 7,550
S0 A 7,550 7,550
OE&XAE 20| 350,000 x3H 1,050
O=H 2 staFTH2| AI8EZE 20|
5,000,000 5,000
OodtEHde|2e |oa&A A ARE 0|
1,500,000 1,500
206 M=H| 542,700 401,679 141,021
01 =4 542,700 401,679 141,021
S0 A 542,700 401,679 141,021
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130,000& *2000H 26,000
OXI|8 SEI(QLEA, PLOIE) ARE
500,000 128 6,000
Odte=diil €2 SEM
4,000 *300kg*365& 438,000
Ott=XMel& I, &I|, HSEH 225
2,100,000& < 12& 25,200
Oot=xcld & OtSF8 AFHMAHE 2
=] 6,00024+5 ¢ 100 3,000
Odt==HMelE HolE el AIE%E
2,500,000 2,500
O3atea MAHE A4EH]
3,500,000 122 42,000
301 Et2dS 2,940 2,940
14 J|Et2 483 2,940 2,940
=0l & 2,940 2,940
Odt=Xeld AFHMAHE ZAl 2SH|
70,0003 »7 62 2,940
308 AHXISHHSOIH 200,000 200,000
12 JIEtRE3 200,000 200,000
=0l &t 200,000 200,000
OAlgZHDIZ ME RE=
200,000,000 200,000
401 AlEHIZL SO 2,365,000 360,000 2,005,000
01 Al&Hl 2,355,000 360,000 1,995,000
=0l &t 2,355,000 360,000 1,995,000
oudldsgit 24 67,000,000 67,000
Os=J| el OS2 WHISAE
35,000,000& 35,000
OgtEx 0|SBE WHSA
20,000,000& 20,000
OdSEE2X WED| WHISA
12,000,000 * 1574 180,000
OdsddXl s=Z EH wMSA
180,000,000& 180,000
OdsdXl s=X s8I WHSA
100,000,000& 100,000
OASE(C) AZM WHISA
300,000,000 300,000
O4astx Ji28 242 wMSA
200,000,000 200,000
O+HIE ASE ZolE B2BA
22,000,000 22,000
OO0|XEEX & XI=EI| 2SR WAl
SA 25,000, 0003 »2CH 50,000
OOIXME AN A=Al 0SB WA
SA 8,750,000 8K 70,000
OLXEEX =ikl O|SEI WHISAH
7,500,000 ~8CH 60,000
O & M=kl OISt WMSA!
40,000,000 40,000
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340,000,000& 340,000
Og4=s U ASIX Xlot X WHIZA
20,000,000 20,000
O3 SAYIA 100,000,000 100,000
Oot==Held M=2tSX AD|&H WAl
SAk 80,000,000 *3X| 240,000
OodtXelE AIEE T&EA
130,000,000& 130,000
OdtexelE RUREH WHSA
33,000,000 *274 66,000
OBt+H2IE HUEEY B
35,000,000 35,000
OdtexelE sAZ &4
200,000 *500& 100,000
03 Al 2CHYI 10,000 10,000
S0 & 10,000 10,000
OMaH oI =X &l 1,000,000&*102] 10,000
oteMeld Y (Gt €50 nHISA 1,200,000 0 1,200,000
& 600,000
Al 600,000
401 AMIEBIZ U] 1,200,000 0 1,200,000
== 600,000
Al 600,000
01 A&t 1,200,000 0 1,200,000
& 600,000
Al 600,000
204 & 1,200,000 0 1,200,000
= 600,000
Al 600,000
OdteX el & EF 0| WXBAt
400,000,000 *3CH 1,200,000
& 600,000
Al 600,000
St=AlE ZHI(St+=Z AL SESIH) 5,636,570 5,242,370 3%4,200
= 1,240,000
& 481,500
Al 3,915,070
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Al 204,000
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Al 204,000
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S 204,000
Al 204,000
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Odt=Z AERX MEZ 10,000,000& 10,000
02 S5=24H| 55,200 30,200 25,000
=0l &t 55,200 30,200 25,000
OR=+=E4 MOAIAE ANH AEZ
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22,000,000& 22,000
OR=+=E4 MOAIARE X224
20,000,000& 20,000
OR+=E4 MOUOAAE MRS
500,000+ 128 6,000
O2=+=E4 HUAIAY S4L2=
200,000& ~12& 2,400
202 04l 1,000 1,000
01 2L 1,000 1,000
=0l & 1,000 1,000
Odt=22 N2>+ N=BH
10,0002 x102* 102 1,000
305 Hial=2sS 15,000 15,000
01 tiat=sS 15,000 15,000
=0l &t 15,000 15,000
Otiiel= S 15,000,000 15,000
401 AlEHIZL O] 2,109,000 1,600,000 509,000
01 Al&Hl 2,109,000 1,600,000 509,000
=0l At 2,109,000 1,600,000 509,000
OZ2U Hi==&H| ZHISAH 100,000,000 100,000
OkLss =520t=4d 222 2c|
SA 2AIEHES 22,000,000& 22,000
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01 AtR2teld| 234,500 218,500 16,000
S0 A 234,500 218,500 16,000
Odte=E E4E HelerE
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(@ E==1s] 500
0 o+t& 3} 50,000& *23] 100
o&AS 200,000 *x23] 400
202 04| 350 350
01 2yl 350 350
S0 A 350 350
OEEXAE 20| 350,000 350
401 Al&EHILL0HY| 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
S0 A 1,000,000 1,000,000
Odt=B0X =4 500,000,000 500,000
Odt=2tz =4 500,000,000& 500,000
ol=Eo AX L 22| (ol H HH|)(ddsdH 834,000 0 834,000
ol Z2 EH|AFY)
= 500,000
& 167,000
Al 167,000
401 Al&EHIZLL0HY| 834,000 0 834,000
= 500,000
& 167,000
Al 167,000
01 Al&HI 834,000 0 834,000
= 500,000
< 167,000
Al 167,000
S0 A 834,000 0 834,000
= 500,000
= 167,000
Al 167,000
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553,000,000& 553,000
== 332,000
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201 B2 AY| 143,096 144,570 N1,474
01 AtR2teldl 11,096 12,570 AN1,474
=0 A 11,006 12,570 N1,474
O2=Held §&2 MHelx=x2
17,0002 x5Ex 128 7,020
OsAlzs & 2xHela dI|jets2e| oY
[y 298,000« 12& 3,576
(@M E==1s] 500
0 o+t& B} 50,000& *23| 100
oMY= 200,000 *x23] 400
02 E232g| 132,000 132,000
=01 A 132,000 132,000
OLXeld AIZ8EH SXE24HI
1,000, 000& *3=+103] 30,000
OkXHeld M3 8,500,000& ~12& 102,000
202 0dH| 350 350 0
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01 2L 350 350
=0l & 350 350
Od&XIAst IO 350,000 350
206 M=H] 78,000 78,000
01 =4l 78,000 78,000
=0l & 78,000 78,000
O2bXeld 228 +#Y
400,000& %155 6,000
O2axcld S8 & €457
9,000,000 «8& 72,000
401 Al HIL S CHI 60,000 60,000
01 AlZHI 60,000 60,000
=y 60,000 60,000
OEaXcld =4 100,000 »600& 60,000
SMEHUE 22 644,960 678,994 A34,034
201 ¢et2d| 541,960 541,960 0
01 At22telH 297,960 297,960 0
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